Paragraph 1

The impacts of
tectonic hazards
are worse in
LICs, for
example...

The social
impacts were...
This is because...
This happens as |
a result of...
This means
that...

-Pa ragraph 2

However, they
are not always
worse In LICs,
for example...

This is because...
This happens as
a result nf. .

Paragraph 1

The impacts of
tectonic hazards
are worse in
LICs, for
example...

The social
impacts were...
This is because...
This happens as
a result of...

This means
that...

TemEEEEEEREE PR R R LA B
h ¥
..1--... B i

Lepp

o=

\—'l""v"r“b“"{&y
K

Caiaikg,
L

[ 20 LT 0 e erconomace. copnd it .
uzﬁwﬁaée%fmx{vﬂwﬁéf%faﬁﬁ%f 2 LT¢

N

m&g?ﬁ&ufﬁi&,@a&\%mm#ﬂwwgmﬁh ;
D, i LFCS My poocet oseor vooth Candar Lui
b ool e Mo MR R ek e bordoy
e, LU towdma,

i eibmnmale va's vaa

-

*‘“""‘“""@J' f'.,;.\r’-

: 7
"M

@ity

Ceiarars
R i e iy

ligpu.cosed] by Py,

. |
LEgh gy e S F o

he sttegad by Mo sk & Mol n L1 s My besliding moedatin, e
3 ﬁ“ﬂm % gl S5

. ;ﬁlﬂﬂzu

...................................

| Paragraph 2

I oL N L“’E;? ..........

.................................................................................................................................................................
............

He

.........................................................




